

Board of County Commissioners Agenda Request

6B
Agenda Item #

Requested Meeting Date: 11-25-25

Title of Item: Award Contract 20261

T DECLILAD ACENDA	Action Requested:	Direction Requested
REGULAR AGENDA	Approve/Deny Motion	Discussion Item
CONSENT AGENDA	✓ Adopt Resolution (attach draft)	Information Only
	Hold Public Hearing *provide co	opy of hearing notice that was published
Submitted by:		Department:
John Welle		Highway
Presenter (Name and Title): John Welle, Aitkin County Enginee	r	Estimated Time Needed: 5 minutes
Summary of Issue:		
	ober 27, 2025 for Contract No. 20261 whake River and and unnamed stream in th	
	2,457.81. With the cost of this contract es	RR Reinforcing Inc Aitkin, MN - submitting stimated at \$1,681,413, the low bid is
7		
Alternatives, Options, Effects	on Others/Comments:	
Recommended Action/Motion	า:	
Award Contract 20261 to S&R Rein		
Financial Impact: Is there a cost associated with	this request?	No
What is the total cost, with tax a	·	
Is this budgeted? ✓ Yes		
\$1,681,000 was budgeted for this p	project in 2026. The additional cost of the	project will be budgeted in 2027.

AITKIN COUNTY BID ABSTRACT

Project Name: Bridge Replacements over Snake River and Unnamed Stream

Bid Opening: October 27, 2025, at 2:00 PM Contract No. 20261

Project No.

SAP 001-602-015

		SAP 001-602-015 Bridge Replacements over Snake River and Unnamed Stream on CSAH 2							S & R Reinforcing, Inc Aitkin, MN		Redstone Construction, LLC - Mora, MN		Northland Constructors of Duluth, a Division of Mathy Construction Company - Duluth, MN	
Line	Number	Description	Unit	Quantity	Estimated Price	Estimated Total	Price	Total	Price	Total	Price	Total		
Bridge	01541 No	n-Participating												
3	2101.501	1 CLEARING AND GRUBBING	LS	0.39	\$4,000.00	\$1,560.00	\$2,000.00	\$780.00	\$3,000.00	\$1,170.00	\$2,100.00	\$819.00		
5	2104.502	REMOVE SIGN	EACH	4	\$50.00	\$200.00	\$25.00	\$100.00	\$50.00	\$200.00	\$45.00	\$180.00		
7	2104.503	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LIN FT	56	\$10.00	\$560.00	\$22.00	\$1,232.00	\$4.00	\$224.00	\$2.50	\$140.00		
11	2104.503	REMOVE GUARDRAIL	LF	501	\$8.00	\$4,008.00	\$5.00	\$2,505.00	\$7.50	\$3,757.50	\$7.85	\$3,932.85		
12	2104.504	REMOVE BITUMINOUS PAVEMENT	SQ YD	789	\$5.00	\$3,945.00	\$9.00	\$7,101.00	\$14.50	\$11,440.50	\$7.00	\$5,523.00		
14	2106.507	COMMON EMBANKMENT (CV) (P)	CU YD	573	\$12.00	\$6,876.00	\$25.00	\$14,325.00	\$8.75	\$5,013.75	\$13.00	\$7,449.00		
15	2106.507	7 EXCAVATION - COMMON (P)	CU YD	570	\$10.00	\$5,700.00	\$16.00	\$9,120.00	\$15.00	\$8,550.00	\$11.00	\$6,270.00		
18	2118.509	AGRREGATE SURFACING CLASS 5	TON	32	\$30.00	\$960.00	\$28.00	\$896.00	\$72.00	\$2,304.00	\$70.00	\$2,240.00		
20	2123.51	1 3.0 CU YD SHOVEL	HOUR	8	\$250.00	\$2,000.00	\$125.00	\$1,000.00	\$265.00	\$2,120.00	\$225.00	\$1,800.00		
21	2123.51	1 DOZER	HOUR	8	\$250.00	\$2,000.00	\$225.00	\$1,800.00	\$185.00	\$1,480.00	\$190.00	\$1,520.00		
24	2211.509	AGGREGATE BASE CLASS 5	TON	849	\$25.00	\$21,225.00	\$28.00	\$23,772.00	\$25.00	\$21,225.00	\$35.00	\$29,715.00		
26	2360.509	TYPE SP 9.5 WEARING COURSE MIX (2,B)	TON	350	\$110.00	\$38,500.00	\$130.00	\$45,500.00	\$130.00	\$45,500.00	\$135.00	\$47,250.00		
42	2442.501	1 REMOVE EXISTING BRIDGE	LUMPSUM	1	\$40,000.00	\$40,000.00	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00		
78	2573.501	1 EROSION CONTROL SUPERVISOR	LUMPSUM	0.5	\$3,000.00	\$1,500.00	\$500.00	\$250.00	\$400.00	\$200.00	\$500.00	\$250.00		
81	2573.503	FLOTATION SILT CURTAIN TYPE MOVING WATER	LIN FT	300	\$20.00	\$6,000.00	\$20.00	\$6,000.00	\$20.00	\$6,000.00	\$19.95	\$5,985.00		
82	2573.503	SEDIMENT CONTROL LOG TYPE STRAW	LIN FT	310	\$3.50	\$1,085.00	\$4.00	\$1,240.00	\$4.00	\$1,240.00	\$4.00	\$1,240.00		
83	2573.503	SILT FENCE TYPE MS	LIN FT	710	\$4.00	\$2,840.00	\$3.75	\$2,662.50	\$4.00	\$2,840.00	\$4.00	\$2,840.00		
87	2575.501	1 TURF ESTABLISHMENT	LUMPSUM	0.42	\$5,000.00	\$2,100.00	\$4,000.00	\$1,680.00	\$9,500.00	\$3,990.00	\$9,500.00	\$3,990.00		
89	2575.504	ROLLED EROSION PREVENTION CATEGORY 25	SQ YD	1,394	\$4.00	\$5,576.00	\$3.00	\$4,182.00	\$4.50	\$6,273.00	\$4.50	\$6,273.00		
91	2575.523	RAPID STABILIZATION METHOD 3	MGAL	15	\$250.00	\$3,750.00	\$250.00	\$3,750.00	\$200.00	\$3,000.00	\$200.00	\$3,000.00		
93	2582.503	4" BROKEN LINE PAINT	LIN FT	62	\$2.50	\$155.00	\$1.50	\$93.00	\$1.50	\$93.00	\$1.50	\$93.00		
94	2582.503	4" SOLID LINE PAINT	LIN FT	620	\$2.00	\$1,240.00	\$1.50	\$930.00	\$1.50	\$930.00	\$1.50	\$930.00		
		Total Bridg	e 01541 Non-P	articipating		\$151,780.00		\$163,918.50		\$157,550.75		\$161,439.85		

		SAP 001-602-015 Bridge Replacements over Snake River and Unnamed Stream on CSAH 2					S & R Reinforcing, Inc Aitkin, MN		Redstone Construction, LLC -		Northland Constructors of Duluth, a Division of Mathy Construction Company - Duluth, MN	
Line	Number	Description	Unit	Quantity	Estimated Price	Estimated Total	Price	Total	Price	Total	Price	Total
Bridge	01541 Pari	ticipating										
1	2021.501	MOBILIZATION	LS	0.5	\$115,000.00	\$57,500.00	\$76,243.00	\$38,121.50	\$140,000.00	\$70,000.00	\$153,604.10	\$76,802.05
28	2401.507	STRUCTURAL CONCRETE (3B52) (P)	CU YD	105	\$1,150.00	\$120,750.00	\$1,196.29	\$125,610.45	\$1,400.00	\$147,000.00	\$1,400.00	\$147,000.00
30	2401.508	REINFORCEMENT BARS (EPOXY COATED) (P)	POUND	38,000	\$1.60	\$60,800.00	\$1.39	\$52,820.00	\$1.55	\$58,900.00	\$1.50	\$57,000.00
31	2401.508	REINFORCEMENT BARS (STAINLESS-75KSI) (P)	POUND	730	\$5.00	\$3,650.00	\$4.60	\$3,358.00	\$4.25	\$3,102.50	\$4.00	\$2,920.00
34	2401.518	BRIDGE SLAB CONCRETE (3YHPC-M) (P)	SQ FT	2,368	\$43.00	\$101,824.00	\$65.76	\$155,719.68	\$68.50	\$162,208.00	\$72.00	\$170,496.00
36	2401.601	STRUCTURE EXCAVATION	LUMPSUM	1	\$10,000.00	\$10,000.00	\$18,000.00	\$18,000.00	\$18,750.00	\$18,750.00	\$33,750.00	\$33,750.00
38	2401.601	SLOPE PREPARATION	LUMPSUM	1	\$15,000.00	\$15,000.00	\$500.00	\$500.00	\$13,500.00	\$13,500.00	\$6,250.00	\$6,250.00
40	2406.504	BRIDGE APPROACH PANELS (P)	SQ YD	165	\$325.00	\$53,625.00	\$342.79	\$56,560.35	\$300.00	\$49,500.00	\$360.00	\$59,400.00
44	2451.607	STRUCTURAL BACKFILL (CV) (P)	CU YD	305	\$35.00	\$10,675.00	\$51.00	\$15,555.00	\$51.00	\$15,555.00	\$50.00	\$15,250.00
46	2452.502	C-I-P CONC. TEST PILE 60 FT. LONG, 12"	EACH	2	\$12,000.00	\$24,000.00	\$7,285.00	\$14,570.00	\$8,000.00	\$16,000.00	\$7,500.00	\$15,000.00
47	2452.502	C-I-P CONC. TEST PILE 60 FT. LONG, 16"	EACH	2	\$14,000.00	\$28,000.00	\$16,600.00	\$33,200.00	\$11,000.00	\$22,000.00	\$12,500.00	\$25,000.00
50	2452.502	PILE POINTS 12"	EACH	8	\$350.00	\$2,800.00	\$281.00	\$2,248.00	\$400.00	\$3,200.00	\$360.00	\$2,880.00
52	2452.502	PILE POINTS 16"	EACH	10	\$450.00	\$4,500.00	\$351.00	\$3,510.00	\$500.00	\$5,000.00	\$460.00	\$4,600.00
54	2452.503	C-I-P CONCRETE PILING 12"	LIN FT	300	\$50.00	\$15,000.00	\$53.96	\$16,188.00	\$35.00	\$10,500.00	\$50.00	\$15,000.00
55	2452.503	C-I-P CONCRETE PILING 16"	LIN FT	400	\$60.00	\$24,000.00	\$96.60	\$38,640.00	\$70.00	\$28,000.00	\$90.00	\$36,000.00
58	2475.603	TUBULAR STEEL RAILING TYPE "M" (P)	LIN FT	131	\$250.00	\$32,750.00	\$295.71	\$38,738.01	\$360.00	\$47,160.00	\$345.00	\$45,195.00
62	2502.501	DRAINAGE SYSTEM TYPE (B910)	LUMPSUM	1	\$4.00	\$4.00	\$1,250.00	\$1,250.00	\$2,800.00	\$2,800.00	\$1,850.00	\$1,850.00
64	2511.504	GEOTEXTILE FILTER TYPE 7	SQ YD	545	\$7.00	\$3,815.00	\$5.00	\$2,725.00	\$4.00	\$2,180.00	\$3.25	\$1,771.25
66	2511.507	RANDOM RIPRAP CLASS III	CU YD	250	\$60.00	\$15,000.00	\$100.00	\$25,000.00	\$118.00	\$29,500.00	\$70.00	\$17,500.00
69	2554.502	END TREATMENT TANGENT TERMINAL	EACH	4	\$3,000.00	\$12,000.00	\$3,000.00	\$12,000.00	\$3,000.00	\$12,000.00	\$3,150.00	\$12,600.00
71	2554.503	TRAFFIC BARRIER DESIGN TRANSITION TYPE 31	LIN FT	150	\$125.00	\$18,750.00	\$101.00	\$15,150.00	\$101.00	\$15,150.00	\$106.00	\$15,900.00
72	2554.503	TRAFFIC BARRIER DESIGN TYPE 31	LIN FT	50	\$50.00	\$2,500.00	\$35.00	\$1,750.00	\$35.00	\$1,750.00	\$36.50	\$1,825.00
76	2563.601	TRAFFIC CONTROL	LUMPSUM	0.5	\$5,000.00	\$2,500.00	\$12,450.00	\$6,225.00	\$12,500.00	\$6,250.00	\$13,000.00	\$6,500.00
		Total I	Bridge 01541 P	articipating		\$619,443.00		\$677,438.99		\$740,005.50		\$770,489.30
			OTALS FOR BRI			\$771,223.00		\$841,357.49		\$897,556.25		\$931,929.15
		% OF EST	MATE FOR BRI	DGE 01541				9.09%		16.38%		20.84%

		SAP 001-602-015 Bridge Replacements over Snake River and Unnamed Stream on CSAH 2						orcing, Inc n, MN		struction, LLC - a, MN	Division of Mat	uctors of Duluth, a hy Construction Duluth, MN
Line	Number	Description	Unit	Quantity	Estimated Price	Estimated Total	Price	Total	Price	Total	Price	Total
Bridge	e 01542 No	n-Participating										
4	2101.501	CLEARING AND GRUBBING	LS	0.61	\$4,000.00	\$2,440.00	\$2,000.00	\$1,220.00	\$3,000.00	\$1,830.00	\$2,100.00	\$1,281.00
6	2104.502	REMOVE SIGN	EACH	4	\$50.00	\$200.00	\$25.00	\$100.00	\$50.00	\$200.00	\$45.00	\$180.00
8	2104.503	REMOVE GUARDRAIL	LIN FT	428	\$8.00	\$3,424.00	\$5.00	\$2,140.00	\$7.50	\$3,210.00	\$7.85	\$3,359.80
9	2104.503	REMOVE PIPE CULVERTS	LIN FT	88	\$25.00	\$2,200.00	\$20.00	\$1,760.00	\$21.00	\$1,848.00	\$20.00	\$1,760.00
10	2104.503	SAWING BITUMINOUS PAVEMENT (FULL DEPTH)	LIN FT	58	\$10.00	\$580.00	\$22.00	\$1,276.00	\$4.00	\$232.00	\$2.50	\$145.00
13	2104.504	REMOVE BITUMINOUS PAVEMENT	SQ YD	861	\$5.00	\$4,305.00	\$9.00	\$7,749.00	\$14.50	\$12,484.50	\$7.00	\$6,027.00
16	2106.507	COMMON EMBANKMENT (CV) (P)	CU YD	663	\$12.00	\$7,956.00	\$25.00	\$16,575.00	\$8.75	\$5,801.25	\$13.00	\$8,619.00
17	2106.507	EXCAVATION - COMMON (P)	CU YD	705	\$10.00	\$7,050.00	\$16.00	\$11,280.00	\$15.00	\$10,575.00	\$11.00	\$7,755.00
19	2118.509	AGRREGATE SURFACING CLASS 5	TON	56	\$30.00	\$1,680.00	\$28.00	\$1,568.00	\$72.00	\$4,032.00	\$70.00	\$3,920.00
22	2123.51	. 3.0 CU YD SHOVEL	HOUR	8	\$250.00	\$2,000.00	\$125.00	\$1,000.00	\$265.00	\$2,120.00	\$225.00	\$1,800.00
23	2123.51	DOZER	HOUR	8	\$250.00	\$2,000.00	\$225.00	\$1,800.00	\$185.00	\$1,480.00	\$190.00	\$1,520.00
25	2211.509	AGGREGATE BASE CLASS 5	TON	762	\$25.00	\$19,050.00	\$28.00	\$21,336.00	\$25.00	\$19,050.00	\$35.00	\$26,670.00
27	2360.509	TYPE SP 9.5 WEARING COURSE MIX (2,B)	TON	335	\$110.00	\$36,850.00	\$130.00	\$43,550.00	\$130.00	\$43,550.00	\$135.00	\$45,225.00
43	2442.501	. REMOVE EXISTING BRIDGE	LUMPSUM	1	\$40,000.00	\$40,000.00	\$35,000.00	\$35,000.00	\$30,000.00	\$30,000.00	\$30,000.00	\$30,000.00
60	2501.502	24" GS PIPE APRON	EACH	2	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$700.00	\$1,400.00	\$820.00	\$1,640.00
61	2501.503	24" CS PIPE CULVERT	LIN FT	80	\$50.00	\$4,000.00	\$130.00	\$10,400.00	\$90.00	\$7,200.00	\$69.00	\$5,520.00
67	2511.507	RANDOM RIPRAP CLASS III	CU YD	10	\$60.00	\$600.00	\$100.00	\$1,000.00	\$118.00	\$1,180.00	\$70.00	\$700.00
79	2573.501	EROSION CONTROL SUPERVISOR	LUMPSUM	0.5	\$3,000.00	\$1,500.00	\$500.00	\$250.00	\$400.00	\$200.00	\$500.00	\$250.00
80	2573.502	CULVERT END CONTROLS	EACH	1	\$250.00	\$250.00	\$250.00	\$250.00	\$225.00	\$225.00	\$230.00	\$230.00
84	2573.503	FLOTATION SILT CURTAIN TYPE MOVING WATER	LIN FT	300	\$20.00	\$6,000.00	\$20.00	\$6,000.00	\$20.00	\$6,000.00	\$19.95	\$5,985.00
85	2573.503	SEDIMENT CONTROL LOG TYPE STRAW	LIN FT	320	\$3.50	\$1,120.00	\$4.00	\$1,280.00	\$4.00	\$1,280.00	\$4.00	\$1,280.00
86	2573.503	SILT FENCE TYPE MS	LIN FT	780	\$4.00	\$3,120.00	\$3.75	\$2,925.00	\$4.00	\$3,120.00	\$4.00	\$3,120.00
88	2575.501	TURF ESTABLISHMENT	LUMP SUM	0.58	\$5,000.00	\$2,900.00	\$4,000.00	\$2,320.00	\$9,500.00	\$5,510.00	\$9,500.00	\$5,510.00
90	2575.504	ROLLED EROSION PREVENTION CATEGORY 25	SQ YD	1,943	\$4.00	\$7,772.00	\$3.00	\$5,829.00	\$4.50	\$8,743.50	\$4.50	\$8,743.50
92	2575.523	RAPID STABILIZATION METHOD 3	MGAL	18	\$250.00	\$4,500.00	\$250.00	\$4,500.00	\$200.00	\$3,600.00	\$200.00	\$3,600.00
95	2582.503	4" BROKEN LINE PAINT	LIN FT	68	\$2.50	\$170.00	\$1.50	\$102.00	\$1.50	\$102.00	\$1.50	\$102.00
96	2582.503	4" SOLID LINE PAINT	LIN FT	680	\$2.00	\$1,360.00	\$1.50	\$1,020.00	\$1.50	\$1,020.00	\$1.50	\$1,020.00
		Total Bridg	e 01542 Non-P	articipating		\$164,027.00		\$184,230.00		\$175,993.25		\$175,962.30

		SAP 001-602-015 Bridge Replacements over Snake River and Unnamed Stream on CSAH 2						orcing, Inc n, MN		struction, LLC - a, MN	Division of Ma	ructors of Duluth, a thy Construction - Duluth, MN
Line	Number	Description	Unit	Quantity	Estimated Price	Estimated Total	Price	Total	Price	Total	Price	Total
Bridge	01542 Part	icipating										
2	2021.501	MOBILIZATION	LS	0.5	\$115,000.00	\$57,500.00	\$76,243.00	\$38,121.50	\$140,000.00	\$70,000.00	\$153,604.10	\$76,802.05
29	2401.507	STRUCTURAL CONCRETE (3B52) (P)	CU YD	109	\$1,150.00	\$125,350.00	\$1,196.29	\$130,395.61	\$1,400.00	\$152,600.00	\$1,400.00	\$152,600.00
32	2401.508	REINFORCEMENT BARS (EPOXY COATED) (P)	POUND	51,830	\$1.60	\$82,928.00	\$1.39	\$72,043.70	\$1.55	\$80,336.50	\$1.50	\$77,745.00
33	2401.508	REINFORCEMENT BARS (STAINLESS-75KSI) (P)	POUND	800	\$5.00	\$4,000.00	\$4.60	\$3,680.00	\$4.25	\$3,400.00	\$4.00	\$3,200.00
35	2401.518	BRIDGE SLAB CONCRETE (3YHPC-M) (P)	SQ FT	2,987	\$43.00	\$128,441.00	\$65.76	\$196,425.12	\$68.50	\$204,609.50	\$72.00	\$215,064.00
37	2401.601	STRUCTURE EXCAVATION	LUMPSUM	1	\$10,000.00	\$10,000.00	\$18,000.00	\$18,000.00	\$18,750.00	\$18,750.00	\$33,750.00	\$33,750.00
39	2401.601	SLOPE PREPARATION	LUMPSUM	1	\$15,000.00	\$15,000.00	\$500.00	\$500.00	\$13,500.00	\$13,500.00	\$6,250.00	\$6,250.00
41	2406.504	BRIDGE APPROACH PANELS (P)	SQ YD	294	\$325.00	\$95,550.00	\$342.79	\$100,780.26	\$300.00	\$88,200.00	\$360.00	
45	2451.607	STRUCTURAL BACKFILL (CV) (P)	CU YD	515	\$35.00	\$18,025.00	\$51.00	\$26,265.00	\$51.00	\$26,265.00	\$50.00	\$25,750.00
48	2452.502	C-I-P CONC. TEST PILE 50 FT. LONG, 12"	EACH	2	\$10,000.00	\$20,000.00	\$7,285.00	\$14,570.00	\$8,000.00	\$16,000.00	\$7,500.00	\$15,000.00
49	2452.502	C-I-P CONC. TEST PILE 50 FT. LONG, 16"	EACH	2	\$12,000.00	\$24,000.00	\$16,600.00	\$33,200.00	\$11,000.00	\$22,000.00	\$12,500.00	\$25,000.00
51	2452.502	PILE POINTS 12"	EACH	8	\$350.00	\$2,800.00	\$281.00	\$2,248.00	\$400.00	\$3,200.00	\$360.00	\$2,880.00
53	2452.502	PILE POINTS 16"	EACH	10	\$450.00	\$4,500.00	\$351.00	\$3,510.00	\$500.00	\$5,000.00	\$460.00	\$4,600.00
56	2452.503	C-I-P CONCRETE PILING 12"	LIN FT	240	\$50.00	\$12,000.00	\$53.96	\$12,950.40	\$35.00	\$8,400.00	\$50.00	\$12,000.00
57	2452.503	C-I-P CONCRETE PILING 16"	LIN FT	320	\$60.00	\$19,200.00	\$96.60	\$30,912.00	\$70.00	\$22,400.00	\$90.00	\$28,800.00
59	2475.603	TUBULAR STEEL RAILING TYPE "M" (P)	LIN FT	163	\$250.00	\$40,750.00	\$295.71	\$48,200.73	\$360.00	\$58,680.00	\$345.00	\$56,235.00
63	2502.501	DRAINAGE SYSTEM TYPE (B910)	LUMPSUM	1	\$4.00	\$4.00	\$1,250.00	\$1,250.00	\$2,800.00	\$2,800.00	\$1,850.00	\$1,850.00
65	2511.504	GEOTEXTILE FILTER TYPE 7	SQ YD	670	\$7.00	\$4,690.00	\$5.00	\$3,350.00	\$4.00	\$2,680.00	\$3.25	\$2,177.50
68	2511.507	RANDOM RIPRAP CLASS III	CU YD	315	\$60.00	\$18,900.00	\$100.00	\$31,500.00	\$118.00	\$37,170.00	\$70.00	\$22,050.00
70	2554.502	END TREATMENT TANGENT TERMINAL	EACH	3	+-,	\$9,000.00	\$3,000.00	\$9,000.00	\$3,000.00	\$9,000.00	\$3,150.00	
73	2554.503	TRAFFIC BARRIER DESIGN TRANSITION TYPE 31	LIN FT	113	\$125.00	\$14,125.00	\$101.00	\$11,413.00	\$101.00	\$11,413.00	\$106.00	
74	2554.503	TRAFFIC BARRIER DESIGN TYPE 31	LIN FT	38	7	\$1,900.00	\$35.00	\$1,330.00	\$35.00		\$36.50	
75	2554.615	IMPACT ATTENUATOR	ASSEMBLY	1	\$35,000.00	\$35,000.00	\$31,000.00	\$31,000.00	\$31,000.00	\$31,000.00	\$32,500.00	
77	2563.601	TRAFFIC CONTROL	LUMPSUM	0.5	\$5,000.00	\$2,500.00	\$12,450.00	\$6,225.00	\$12,500.00	\$6,250.00	\$13,000.00	
		Total E	3ridge 01542 P	articipating		\$746,163.00		\$826,870.32		\$894,984.00		\$929,408.55
		TC	OTALS FOR BRI	DGE 01542		\$910,190.00	I	\$1,011,100.32		\$1,070,977.25		\$1,105,370.85
			MATE FOR BRI		+			11.09%		17.67%		21.44%
		TOTALS FOR P	ROJECT SAP 0	01-602-015		\$1,681,413.00		\$1,852,457.81		\$1,968,533.50		\$2,037,300.00
		% OF ESTIMATE FOR P	ROJECT SAP 0	01-602-015				10.17%		17.08%		21.17%

I hereby certify that this is an exact reproduction of bids received.

Certified By: John Welle Distally signed by John Weile Distally signed by John Weile Distall St 2025/10.38 12:35:354-40707 License No. 24340

Date: 11-28-25

CERTIFIED COPY OF RESOLUTION OF COUNTY BOARD OF AITKIN COUNTY, MINNESOTA

ADOPTED

November 25, 2025

By Commissioner: xxx

20251125-xxx

Award Contract 20261

WHEREAS, Contract No. 20261 is for construction of SAP 001-602-015, and

WHEREAS, sealed bids were opened for this contract at 2:00 p.m. on Monday, October 27, 2025 with a total of three bids received, and

WHEREAS, S&R Reinforcing, Inc - Aitkin, MN - was the lowest responsible bidder with a bid amount of \$1,852,457.81.

NOW THEREFORE, BE IT RESOLVED, that S&R Reinforcing Inc. be awarded Contract 20261 in the amount of \$1,852,457.81.

BE IT FURTHER RESOLVED, that the chairperson of the Aitkin County Board and the Aitkin County Administrator are hereby authorized and directed to enter into a contract on behalf of Aitkin County with said low bidder upon presentation of proper contract documents

Commissioner xxx seconded the adoption of the resolution and it was declared adopted upon the following vote

XXX MEMBERS PRESENT

All Members Voting xxx

STATE OF MINNESOTA) COUNTY OF AITKIN)

I, David J. Minke, County Administrator, Aitkin County, Minnesota do hereby certify that I have compared the foregoing with the original resolution filed in the Administration Office of Aitkin County in Aitkin, Minnesota as stated in the minutes of the proceedings of said Board on the 25th day of November 2025, and that the same is a true and correct copy of the whole thereof.

Witness my hand and seal this 25th day of November 2025

David J. Minke County Administrator